P72 fIEL [HEE1ZHATZEIN]
3 (2x+1) —4 (x—7) () =99 OOEH| - - /EdiEH)
=6x+3—-4x+28=2x+31
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(1) 8 (x—2) +4 (2x+6) =8x—16+8x+24=6x+38

(2) 6 (a+5) +3 (a—10) =6a+30+3a—30
=9 a

(38) 5 (x—3) — (x+1) =5x—15—x—1=4x—16
(4) 7 (x—1) —9 (x—2) =7x—7—9x+18=—2x+11

(5) 3 (—=2a+1) +3 (a—1) =—6a+3+3a—3=—3a

é%zx—4%3<x+mzx—2—3x—3 (6)

=—2x—5
fek ) [ RE

1. (1) 8xX2=16x (2) 12xX (—4) =—48x

(3) —6ax (—5) =30a (4) g..=22_,
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2 1a+(—7)= : =
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—27x%m:—2lx (7) (8)
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10x+ —=10xx —=25x
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2. (1) 10 (0. 2x—1. 5) =2x—15

(2) (400x—300) +100=4x-3
9{23ﬂ:183x (3)
3

— 9 x+3
——%——x12:&2x+3k2:—4x+6 (4)

(5) 7x+2 (4—5%x) =7x+8—10x=—3x+8
(6) 6 (y—7) —3 (4y+5) =6y—42—12y—15=—6y—57

(7) 3 (2a—1) —6 (a—1) =6a—3—6a+6=+3
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